MATH'S MATE (&
Term 4 - Sheet 1

Nead haip? Free Skill Bullders

Parent's Signature: .................. ideldidohe s el SO

Due Date: ............ [, AR

[Long x,+] *

670 x 150 =

100,500

2. [Decimal +,-] *

1-025= 0.75

3. [Decimalx+]*

58+01= 58

4 [Fraction +-] *

13 17

—4 =

4 5 20

5. [Fraction x,+] *

4 5

X—=
5 16

=

6. [Percents] *

Decrease 6000 by 7% 5580

7. [Decimals / Fractions / Percents] *

Which is greater:

0.5 or —2—?
3

2
3

8. [Integers] *

~40

—‘2’><4><5,E,‘

9. [ﬁates / Ratios] *
The ratio of strings to woodwind instruments in
a baroque orchestra is 5 : 3. If there are
24 instruments in total, how many stringed

instruments are there in the orchestra? 15

1 0 [Exponents]

Simplify (a’)* ar?

11.  [square Roots] *

V2516 = 1

12. [Exploring Number]
Choose the whole numbers from this list:

4
~6,4,3.14,71, 7,0 4,71,0

13.

14.

15.

16.

17.

18.

19.

20.

21.

[Number Patterns] **
Write the first two terms of the sequence where

t,=4n—6andn=>1
-2,2

[Aigebra - Expressions]

Simplify 16a + 4 43

[Algebra - Substitution] *

Ify=x’+1, find y when x =2 9

[Algebra - Expansion] *

Expand and simplify

2t=5)+6(t+ 1) 8t—4

[Algebra - Factorization]

Factor
a(a+4)+3(a+4)

(a+4)(a+ 3)

[Algebra - Equations] *

Solve the inequality:
3x-428

xX=>4

[Algebra - Graphs & Functions] ¥
This graph shows Lola’s hair length over two
and a half years. How many months passed

between the time she shaved

her head and the next trim? 8 months

hair length (in.)

TN W AU N

X
{ 1

2 4 6 8 1012 14 16 18 20 22 24 26 28 30

time (months)

o

[Shapes]
Name the shape of the cross section drawn
through this cube.

rectangle

[Angles]
Find the value of x°.

N
125°
" \

> 125°
T 25

Quote of the week: If we had everything we wanted, we wouidn't ke what we had. William Feather
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22 [Exploring Geometry] 28 [Pythagorean Theorem] *
Find the value of x given the pair of shaded Find the perimeter of this right triangle by first
triangles are congruent. calculating the missing side length.
1016 | |
ey | 0 xyd 15 yd
‘ | 36 yd

23.  [Measuring] ¥ 12 yd

Convert 300 quarts to gallons.
29 [Statistics]
75 gal Complete the stem-and-leaf plot for this set of

24, (Perimeter] * data:

' Write a formula for the perimeter P of the polygon. 27,15, 37, 16, 40, 29, 13, 35

stem | leaves

1{3 5 6
’ P=25s 217 9
3|5 7

25.  [Area ¥ 4 Q
Use &t = 3.14 to find the shaded area of a
netball court, covered by the center player. 30. [Probaility] *

Two coins are tossed at the same time. Find
[ the probability of tossing a tail and a head.
. - [Complete the table.]
e} + 50 ft
? Possible Coin 1
outcomes H T
o
100 ft - =|H| HH | HT 3
4293.5 ft? 3 ry
SRt TH | TT or0.5 2
26. [Surtace Area] *
Using S 4.=2mr(»+ k) and © = 3.14, find the 31, (Problem Solving 1] * : -
On a quiz, a correct response is awarded
2 points, but 1 point is deducted for each error.
Lu received 9 points for his 15 answers. How
many correct responses did he make?
8
32. [Problem Solving 2] *

27.  [volume] * If each corner of a square is joined to every
Using V= nrhond 7 = 3.14, find the volume other corner, 2 diagonals wi}l l}aye been drawn.
of the coBB; If each verte)f of a hexagon 18 _]Oll’led., there

would be 9 diagonals. How many diagonals can
’ be drawn in a regular polygon with 20 sides?
P powgon with 7 oiee
40m n(n-3)
. N\ 5
170
9420 m*
30m Mauve 4.1 © Copyright. Not to be reproduced without permission. J. B. Wright - Echuca 2008
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_For skill builder help go to www.mathsmate.net

MATH'S MATE
Term 4 - Sheet 2

Name: ..., U =t 2
DueDate:...../ . .../ ...

Parent's SIgNature: ... ..o

1. [Long x,+] *

342 x 260 = 88,920

2. [Decimal +,-] *

10— 0.07 = 9.93

3. [Decimalx] ¥

0.067 +0.1= 0.67

4. [Fraction +,-] *

31

g 3

5. [Fraction x,+] *

INES

5.3

9710

o | —

6. [Percents] *

Increase 400 by 12%. 448

7‘ [Decimals / Fractions / Percents] *

Which is greater?
40% or % 40%

8. [Integers] *

6X2x(-2)= | 24

9. [Rates / Ratios] *
‘A chainsaw is fueled with gasoline and oil in a
ratio of 7 : 4. If together the tanks hold 22 oz,

how much oil is in the oil tank?
8 oz

1 0 [Exponents]

Simplify (5%)? b®

11.  [square Roots] *

True or false? false

12. [Exploring Number]
Choose the integers from this list:

2 6
13,-4.5,-100,8, =, = |43 _100, 8, g_

13.

14.

15.

16.
17.

18.

19.

20.

21.

[Number Patterns] *
Write the first three terms of the sequence where

t,=15—-2nandn=5

5,3, 1
[Expressions]
Simplify (97) = (3r) 3
[Substitution] *
Ifa=5and b=2, -
find the value of <+ b 1—
4 12

[Expansion] *

Expand and simplify 10x— 37

3x-3)+7(x-4)

[Factorization]

Factor
c(c=2)+5(c-2) } (c-2)(c+5)

[Equations] ¥

Solve the inequality: x<3

2x+1<7

[Graphs & Functions] *

This graph shows the fuel level of a car during
a 400 mile journey. How many miles had been
completed when the second stop was made?

8
4 ™
0

0 50 100 150 200 250 300 350 400

distance (miles) .
275 mi

[Shapes]
What type of triangle is the shape of the
cross section drawn through this cube?

e equilateral

[Angles] ;
Find the value of x°.

45°

i
7

QUOTE OF THE WEEK: When a diplomat says yes, he means perhaps; when he says perhaps, he means no; and when he says no, he is no diplomat. Rossiter
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22 [Exploring Geometry] ; 28 [Pythagorean Theorem] *
Find the values of x and y given the pair of Find the perimeter of this rectangle by first
shaded triangles are congruent. calculating the missing side length.

x=6 y=4

23.  [unitsof Measurement / Time] * 70 mm

The fuel capacity of a riding lawn mower is

1.5 gallons. What is this 29.  (satistics] ‘

in pints? 12 pt Find the median of this set of data.

STEM | LEAF
24 [Perimeter] * 1-? |’ 2 g g .
i i Key
Write a formula for the perimeter P of the 1210 12] 4 =124 115

polygon. 35

L i 30.  (Probability] *

bt I P=14b A pair of standard dice are rolled. What is the
probability of rolling at least one even number
in the pair? [Complete the table ]

25, [areq) * -
Find the area of the shape. (Use 1t~ =%) Possible Die 1 N\
7 outcomes 1 2 . 3 4 5 6
1] oLy | 2 1 (1,3) (1,4 11,5 [ (1,6)
2] @y [(22) [(23) [ (24) | (25) | (2,6)
o131 G 132 (33 ](34) |(85)](36)
Al4]41) ]| (42 [(43) ] (@44 ] (45)](4.6)
3 5|(51) [ (52) | (53) [ (54) | (55) | (56)
311.5 cm 6] (6.1) ] (6.2) (6,3 [ (6.4) [ (65) ] (66)
3
26. [Surface Area] *# % or 0.75 4 TS
Find the surface area of the cylinder, using 7 ~ = 31, [Problem Solving 1] * =
e Y If you start at point A and travel every road once :
~——] and only once, at which point would you finish? o
. E e
&l
2 - |
- 4400 ft G .
27. [Volume] * , 32. [Problem Salving 2] * _ |
Using V= ar ondm~ 22 find the volume A farmer was asked how many cows he had on |
3 7 ) I

his property. He replied that he was unsure, but
he knew that when he counted them by twos,
threes, fours, fives or sixes, he always had one
left over. The only way he could avoid this was
to count by sevens; he then had none left over.
What is the smallest number of cows the farmer
could possibly have owned? 301

I s '..
. N 011 |{—
Mauve 4.2 © Copyright. Not to be reproduced without permission. J. B. Wright - Echuca_ _2_ — K

of the spherical globe of the gum ball machine.

4851 in.’
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MATH'S MATE

13.

[Number Patterns] *
Write the first four terms of the sequence where

t,=n*—-landn=>2
Term 4 - Sheet 3 MAUVE 3,8,15,24
Name: S 14.  [aigebra - Expressions] *
- Nmmwwwwmm ............... Simplify (~15¢)+ (5u) Y
Parent's Signature: ............... ki pbidion b R
15.  [Aigebra - Substitution] *
Due Date: ........... J gL L. .
Ify= , find y when x =3 1
1. [Long x,+] *¥
157 x 240 = 37,680 16. [Aigebra- Expanslon] *
2 [oomal+1* 4E();,p\ilei aln)d+sg?$lf_y5) 11vw— 11
100 — 0.57 = 99.43
3_ [Decimal x,+] * 1 7 %Ige::ra - Factorization]
0.89 +0.01 = 89 i _ _
3(g-5)-glg-5) (g—5)(3-9)
4. [Fraction +-] * :
2 1 5 18. [aigedra - Equations] *
9 12 36 iolve the inequality:
5. [Fraction x,+] ¥ 5 +4<2 x< —-6
7 5
—X—= l 1 9 [Algebra - Graphs & Functions] ¥
L= 2l 9 Two cellular telephone monthly plans are
6.  [Percents] * graphed below. What is the difference in cost
Increase 65 by 80% 117 per minute between the two plans?
&40 - Plan B
7. [Decimals / Fractions / Percents] * ; 35 o]
Write in ascending order: S 4] Plan A
L 55%,0.05 1 eeo 25 =
22 55%,0. 0.05, 5, 55% sl
10
8. [integers] * 5 =
-2 X (_'5) X (;5) . "50 9 0 10 20 30 40 50 60 70 80 90 100110120 time (mif)
9. [Rates / Ratlos] * $ 020
The ages of mother and son are in a ratio of 20
: her 1s 40 years +  [Shepeel .
10 -2, lifthe m — 1s? y 12 years Name the shape of the cross section drawn
old, how old is the son through this triangular prism.
10 [Exponents] 8 v '
Simplify (x*)? X
11.  [square Roots] * reCtang Ie
VI21 _\/8_= 2 21.  [Angles) * ,
Find the value of x°. 0/
1 2 [Exploring Number] X
Choose the rational numbers from this list:
6 = 63°
—4, —,0.76,5, -9 6 sz
H ’ H H _4 —, -76’ == o
12 73 078 0 A 117
Quote of the week: To make any gain, some outlay is hecessary. Dutch Proverb
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22. [Exploring Geometry] i 28.

5=

[Pythagorean Theorem] *
Find the value of x in this pair of congruent Find the perimeter of this thombus by first
triangles. 4 calculating the missing side length.

8

£

E]

1

8 _ '
100 in. '
23. [Measuring] * '
Coca-Cola Amatil uses 1.5 liters of water to o

ke 1 lit £ la drink. E th 29. [Statistics] * '
??f A F;l(l)'cli—co EHIES SoDeEs e Find the median and range of the monthly, )
B e 500 mL average high temperatures for Boston. ,
24 [Perimeter] * stem | leaves ’
Write a formula for the perimeter P of the shape. 3157 '
410 )

512

6|2

or r(m + 2) ; :12 i

P=mr+2r ,

median = 58.5 range =46

25 [Area) *
Find the area of the shaded shape. (Use 1t = 3.14) 30 [FFaBesH Jis o ,
A coin is tossed and a die is rolled. What is the

probability of tossing tails and rolling an odd
number? [Complete the tree diagram.]

N N i i
¢ ¢ G i G : . - = " . . . } . ) . ‘

1413 mm?

Start

T e

26. [surface Area] *

Coin H T
The kindergarten students are making labels to e ‘i\ % \\ -1-

.. cover soft drink cans for a charity drive. Each Die123456123456 4
label'will cover the entire lateral surface area of or 0.25
acan. Using = 2 find the surface area that
needs to be covered for each can. 31, (Provlem soiing 1] *

Find the value of the product
g () )01 [

l 46.75 in?

~—4.25in——

32. [Problem Solving 2] *
Three women and three children wish to cross
a river in a canoe that will hold only one woman
or two children. They can all row on their own
but no one can swim. If a one way trip in the

canoe takes ten minutes, what is the minimum
time in which all six people
3617 cm’ can cross the river? 150 min

Mauve 4.3 © Copyright, Not fo be reproduced without permission. J. B. Wright - Echuca 2008

27.  [voume] *

Find the volume of this lid in the shape of a

hemisphere, using 7t = 3.14 [Round the answer to
the nearest whole number. ]

————
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MATH'S MATE [V
Term 4 - Sheet 4

\/
MAUVE

Heed hetp? Free Skill Bullders
Parent's Signature: . ... oot o A

Due Date: .......... [ alfimins |

b~ A i . S T e e T L T T T T

1. [Long x,+] *

268 x320 =

85,760

2. [Decimal +-] *

10-0.0289 =

9.9711

3. [Decimal x,+] *

23.04 +0.1 =

230.4

4. [Fraction +,-] *

1 3

4 —=
6 10

5. [Fraction x,+] *

512

815

6. [Percents] *

INI—* |~

Decrease 200 by 3%

194

7. [Decimals / Fractlons / Percents] ¥
Write in order from largest to smallest:

70%, 0.72, 3
4

%, 0.72, 70%

8. [Integers] *

(-3)x6x,(-3)= 1. 594

-~

9. [Rates / Ratios] *

The ratio of molars to all teeth in healthy human 20

adults is 3 : 8. If adults have 32 teeth,

how many molars do adults have? 12

10. [Exponents] *

13.

14.

15.

16.

17

18.

19.

[Number Patterns] *
Write the first four terms of the sequence where
t,=(-D"andn>10

1,-1,1,~1

[Algebra - Expressions] *

Simplify (—24x%) + (6x)

—4x

[Algebra - Substitution] *

Ify=x*(x— 1), find y when x = -2

-12

[Aigebra - Expansion] *
Expand and simplify 6k
k(k+ 1) — k(k— 5)

[Algebra - Factorization] *
Factor
V+6v+v+6

(v+6)(v+1)

[Algebra - Equations]
Solve the inequality:

X _1<9
5

X<50

[Algebra - Graphs & Functions] *
What was the average rate of increase in the
height of the tree over the 6 year period shown?

E 8

E 7

i

2

g 6

-] 5 y :
f 4 1 . : L i time (years)
0 1 2 3 .4 5a0ul 2 7o ‘o

50 cm/year
[Shapes]

Name the shape of the cross section drawn
through this cone.

Simplify 3(y°)? 3y10
11, [square Roots] * a
_ circle
Va+5=+o false :
True or false? 21, [angles) *
12 [Exploring Number] Find the value of x°.
Which numbers are rational? 148°
A) V25 B) V18 Aand C %2 -
C) —-7.7725 INE an 32
Quote of the week: When we put ourselves in the other person’s place, we're less likely to want to put him in his place.
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22 [Exploring Geometry] 28 [Pythagorean Theorem) **
Find the value of x° in this pair of congruent Find the perimeter of this triangle by first
triangles. # calculating the missing side lengths.
16 cm 5 cm—-
30° .
23.  [Measuring] * *em
Your set of measuring cups consists of one, a
half, a third and a quarter cup measures. If one 54 cm
cup equals 240 milliliters, how many liters does
your set hold? 05L 29. (statistics] *
i Find the median and mode of the winning
. numbers in five consecutive Lotto draws.
24 [Perimeter] *
Write a formula for the perimeter P of the shape. STEM I LEAF
0123777
11114577809
2] 1133569
or 2.+ fiases
median= 22 mode= 7
25,  [Area*
Find the area of the shaded shape using Tt = 3.14 30, [Provabilty] *
A die is tossed and a spinner labeled 1, 2 and
3 is spun. What is the probability of obtaining
a total of 7 when the die is tossed and the
. spinner is spun once? [Complete the table.]
478.5 in.?
A
20 in. : it I N
Total Die
26. [surface Area] * value 1 2 3 4 5 6
Using 7t = 3.14 find the surface area of the =11 2 3 4 5 6 7
cylindrical cake, excluding its base. B2 3 [ 25678
53| 45678109
1
or0.166 |__6
s 2
1836.9 in. 31, [Problem Solving 1] *
How many numbers are there from 10 to 99 in
which the digits differ by 4?
27 [Volume] * 1 1
Using & = % find the volume of the ice cream
CORE: 32.  [Problem Solving 2] *
f What is the last digit of the number 42°'29
30 mm m&-—
| 3 6
2 16,500 mm
e Mauve 4.4 © Copyright. Not to be reproduced without permission, J. B. Wright - Echuca 2008
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MATH'S MATE [

12.

[Expioring Number]
‘Which is not a rational number?

25
Term 4 - Sheet 5 MAUVE e B) 14 D
C) v900 D)=
Name: ...t S e
Noed botpt F1O€ Skill Bullders 13. [Number Patterns] *
Parent's Signature: ... Yusmesewaeset
number(®) 1 |2 |3 | 4|5
Due Date: ............ [ A
termt, (4| 6|8 (10]12]....
1. [Long x,+] ¥ . .
965 +2= 482.5 The rule for the general term of this sequence is:
A) 2n B) 2n+1 C
2. [Decmalv* C) 2n+2 D) 3n+1
7-13= 5.7
3 . 14.  (aigebra - Expressions] *
- [Decimalx] Simplify 9+ 3ab—ab—4
0.8+02= 4 plify 5+2ab
15.  [Aigebra - Substitution] *
4. (Frecton+* Use S.4. = 2nr(r + h) to find the surface area of
3 .4 2 a cylinder when ©t = 3.14,
25125 55 r=5andh=15 628
5. [Fraction x,+] ** 1 6 [Algebra - Expansion] *
2 2 Expand and simplify 2
K T =T
; e e+ 1)(x +2) X +3x+2
6. [Porcents] * . i 17.  [Aigebra - Factorization] *
A recommended daily allowance of iron for Factor b’ — 16
teenagers is 12 mg. You consume an extra 25%. (b + 4)(b - 4)
What is your total iron intake 18.  [Aigebra - Equations} *
for the day? 15 mg Solve for x: 1.4
7. [Decimals / Fractions / Percents] * (x + l)(x - 4) =0 !
How much interest would Paula get if she 19, (Agebra- Graphs & Functions] ¥, _
invests $1000 for 2 years at an interest rate of Use the formula m = 22 4 to find the slope of
9% per year? = . s 2 .
[Simple Interést = Principal x Rate x Time] ' $1 80 AB, where A(3,5) and B(0,-7) ‘ 4 II
8. [Integers] * 20. [Shapes]
9+(-3)+3= -1 Draw the side view of this solid.
9. [Rates / Ratios] * *
The horned sungem, a hummingbird from
South America, can beat its wings 5400 times a
minute. What is the average '
rate in beats per second? 90 beats/s
10.  [Exponents] * 21, (Angles] * v
Simplify (2x%)- x* gx™ Find the value of x°.
1. [Square Roots] e
Between which two consecutive whole
numbers does \/7 lie? 2 and 3 2%° + 45° 15°
Quote of the week: The First Law of Computing - To err is human, but to really foul things up requires a computer. Rossiter
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22,

23.

24,

25.

26.

27.

[Exploring Geometry}
Complete the ratios of corresponding sides for
these similar triangles.

‘ i KL LM KM
PQ| |QR| |PR
L
M Q
R
[Measuring] *
Convert 180 ft* to yd* 20 yd 2

[Perimeter] *

The perimeter of a rhombus is 96 yards. What

is the side length?
24 yd

[Area] *
Write a formula for the area 4 of the shaded
shape.

j_m_c A=10x3?
- 6x >
[Surface Area] * " ",,

2
Use S 4. =nr(r+s)and T = 72 to find the
surface area of the cone.

1936 m?

- 30m

[Volume] *
Write a formula for the volume ¥ of the cone.

I

3x

l

4x V= ans

28.

29.

30.

31.

32.

[Pythagorean Theorem] *
Find the area of this right triangle by first
calculating the missing side length.

X cm

25¢cm
65 cm

[Statistics]
For this box-and-whisker plot showing a set of
company profits, find the median and range.

0 45 50 55 60 65 70 75 80

company profits (million $)

750 cm?

median = 65 range = 35

[Probability] *
A 52-card deck of playing cards is shuffled
and one card is dealt from the top of the deck.
What is the probability that it is a king of
hearts or a spade?

[Problem Solving 1] *
Enter numbers in the circles so that the numbers
on each line equal the sum of the numbers at
each end.

16

29 36

@i

[Problem Solving 2] *

At recess time five young students were
discussing the new teacher.

"He's fabulously handsome, and only 32," said
Macala.

"Nonsense!" cried Lauren. "He's not a day over
30." '

"I'm sure he's at least 33," frowned Misty.

"He's definitely over 28," said Deanne.

But Zoe had the last word.

"I happen to know he's under 30," she sniffed.
Only one girl was right.
How old is the teacher? 31

Mauve 4.5 © Copyright. Not to be reproduced without permission. J. B. Wright - Echuca 2008
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MATH'S MATE
Term 4 - Sheet 6

[N Y 1 7= TSRS

12.

[Exploring Number]
Choose the irrational numbers from this list:

1 3
T, \E, 7200

-—,m, —60, J:, 200
2 4

13.  [Number Patterns] *
Need halp? Frae Skill Bullders
Parent's Signature: ... »oy;mess;slessl pumber@)| 1|2 |3|4|5
Due Date: .......... Lo m, [ . .. t.erm.tn 05 15 25 35 4'5 .
1. [Longx+* The rule for the general term of this sequence is:
804 + 5= 160.8 A) n—05 B) 2n
n n
2. [Decimal+-]* 0 5 D) Z A
3-0.75= 2.25
14.  [nigebra - Expressions] *
3. [Docimalx] * Simplify 2y + 6z — 5y — 4z -3y + 2z
0.06 + 0.006 = 10
15.  [Aigetra - Substitution] *
4 (Fraction+-] * Use 4 = mtr? to find the area of a circle when
1
1§+4Z_—_ 61 1t=37 and r=17 154
9 9 3
5 Fract - 16. [Agebra - Expansion] ¥
raction X,+| .
' ' Expand and simplify 5
4 3= L (h-2)(h+3) h*+h-6
9 27 |
6. (Percents] * 17. [aigebra - Factorization] ;"
Gasoline goes up by 5% tomorrow. IfI pay Factor 144 -x (1 2+ X)(1 2 — X)
$2.80 per gallon today, what will I pay
9 18. [Aigebra - Equations] *
tOomorrow?
$2_g4 /ga| Solve for x: _2_3
7. [Decimals / Fractions / Percents] * (x + 2)(x T 3) =0 :
How much interest would Stefano pay on his 19.  {aigebra - Graphs & Functions] *
gggd]‘t cgrd after 2 years if he owed $1200.af-an. . - Use the'formula m = —y-?—_—y‘- to find the slope of
.interest rate of 15% per year? — : X THh
[Simple Interest = Principal X Rate X Time] $360 OD, where 0(0,0) and D(-5, 1) _ l Iﬂ
8. (Integers] * 20. [shapes]
—IxT+7= -7 Draw the front view of this solid.
9. [Rates / Ratios] *
In United States the minimum federal wage is
$6.55 per hour. At this rate, what is the pre-tax 3
wage for an 8 hour shift? $52.40 = E ,_;'“jf
10. [Exponents] el " ~ i
Simplify a’b - (ab*)? 5h9 N
a b 21.  [Angles] ¥
11.  [square Roots] Find the value of x°.
Between which two consecutive whole
ie? 2x° o
numbers does «/E lie? 3 and 4 = . 30
Quote of the week: If we dkl:l all things we are capable of doing, we would literally astound ourselves. Thomas Edison
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22 [Exploring Geometry] ; 28 [Pythagorean Theorem] *
Complete the pairs of congruent angles for Find the area of this square by first calculating
these similar triangles. the missing side length.
A C u f :
-
% . .\‘o?\" L mm
g ’ 128 mm?
F 29. [Statistics] *
‘A= /F./B=/G./C=/E For this box-and-whisker plot showing the
- 4 monthly, average low temperatures for Miami,
23, Measuring] * find the median and range.
Convert 5 ft” to in.? .
720 in.2 :
24 [Perimeter] * 58 60.'::: 62 '.:6‘::.'.:.6‘;::‘6I87i0".‘72'[7!4.': 76 78
A rectangular ice hockey _ﬁeld, excluding the temperature (°F)
privileged area, has a perimeter of 374 feet.
Given the length is 100 feet, what is its width? median = 69.8 range = 17
] ) § 30.  [Probabilty] *
5@ ® i 87 ft This spinner is spun once. What is the
probability of spinning a 1 or a 3?
25,  [Area *
Write a formula for the area 4 of the shaded A A
shape. : or0.5
e -—3x— , dev 1
I ) I 1 —
| ‘ I 2
. 4x
" “Zx <E}: l 31.  [Problem Solving 1] *
= A= 25x 2 M, N, P and Q are the midpoints of the sides of
= - square ABCD. What is the ratio of the area of
267 isurtace Area] * square MNPQ to the area of square ABED?
Using S.4. = 4nr? and 7t = 3.14, find the surface A) 1:2 . 0, -
area of the sphere. B) 1:4
O 2:1
P
B N C A
200.96 m?
8 m 32.  iProblem Solving 2] *
27.  [volume] * Place the digits 1, 2, 3, 4, 5 and 6 into the
Write a formula for the volume V of the prism. squares so that the multiplication problem is
correct.
5d/ 6d 5114
| X 3
. 7d
P 11162
/ V=1050°
Mauve 4.6 © Copyright. Not to be reproduced without permission. J. B. Wright - Echuca 2008
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MATH'S MATE
Term 4 - Sheet 7

12.

[Exploring Number]
Which is an irrational number?

A) 107 B) /400

C) -2 D) 2.161616... C

) Nead hatpy Free Skl Builders 13.  [Number Patterns] *
Parent's Signature: ... SWTERSGSEACL s Express t, in terms of » given the table of values
Due Date: ........... Looiiid for the sequence.
1. [ongxel* number(@m)| 1 | 23|45 |... n
1221 +4 = 305.25 termt, | 8| 9 |10[11]|12]...|n+7
2. [Decimal+-]* -
8-0374= 7.626 Lh=n+7
3 Decimal xs] % 14.  [Aigebra - Expressions] * >
s 0 145 Simplify 3n% - n?-2n—n n<-2n
15.  [Aigebra - Substitution] *
4. ion +,-] ¥
[Fr;mn " 4] Use ¢? = a? + b? to find the value of 13
4=—1—= _2§ c>0whena=5and b=12
5 7
5 [Fracton xe * 16. {Aigebra - Expansion] *
' ’ Expand and simplify
3 ' i q°—2q-24
Z+6= s (g+4)g-6)
7 14
6. [Percents] * 17.  |Aigebra - Factorization] *
In 1930 in the USA there were 3900 million Factor 4y —36 4(y + 3)(y - 3)
movie goers. By 1970 this figure fell by 75%. 18 .
How many million people went to the movies ‘ [é“gibra ';q"a“‘_’"s] 2
in the USA in 1970? olve forx: x*=25 5-5
975
7. [Decimals / Fractions / Percents] ¥ 19.  {Aigebra - Graphs & Functions] * Y, =y
Derek invested $850 at 6% simple interest for Use y -y, = m(x — x,) where m = xz = x: to find
5 years. Using SI= PRT, how much interest the equation of the line joining the points
- did Derek-earn? M(~1,3) and N(—4,0 Sy S
$255 SEYEEHESD) y= x+4
8. [Integers] * 20. [shapes]
~10x 10+ (-4) = 25 Draw the top view of this solid.
9 [Rates / Ratios] * .
On average, hair grows at a rate of 0.125 inches
per week. How many inches does hair grow in . :
4 weeks? i
0.51in.
10.  (Exponents] * N
Simplify (e_) ‘ e " .
3 27 | 21,  [anglesy *
11.  (square Roots] Find the value of x°.
Between which two consecutive whole numbers
ie? 556 60°
does \/Z6 lie? 6 and 7 X 19°
Quote of the week: You can preach a better sermon with your iife than with your lips. Oliver Goldsmith
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122,

23.

24,

25.

26.

[Exploring Geometry]
Find the value of x in this pair of similar
triangles. [All measurements are in inches.]

3 x

N4

[Measuring]
The Old Town Square in Prague is 9000 m?.
Express this in square kilometers.

0.009 km?

[Perimeter] *
The perimeter of the shape is 46 feet. Find the
unknown side length.

9 ft
x ft
5
? 11 ft
48
[Area] *
Write a formula for the area 4 of the trapezoid.
P .
2x
x i 3
X
- 4=5"
y —

[Surface Area] *
Use ©t = 3.14 to find the surface area of the
conical candle.

4710 mm*

27.

28.

29

30.

31.

32.

[Volume] *
Write a formula for the volume ¥ of the cube
which has a regular square pyramid on top.

A V= 96z°

[Pythagorean Theorem] **
Find the area of this parallelogram by first
calculating the missing side length.

168 in.?

[Statistics]

For this box-and-whisker plot showing a set of
Math test scores, find the median and lower
quartile (LQ).

- —

i i 1 ] 1 i 1 1 1 1 | _—
T T T

T T T T T | T T

1 il 1 L 1
56 7 8 9 10111213 1415 16 17 18 19 20

test scores

median=15 LQ=12

[Probability] *
A bowl contains 30 marbles numbered 1to 30Q.
A marble is drawn from the bowl. Fmd the
probability of drawing a multiple of 5 or a
multiple of 8.

3
or0.3 10

[Problem Solving 1] *

The average of six numbers is 8.5. A further
two numbers are added and the average is still
8.5. What is the sum of these two

numbers? 17

[Probiem Solving 2] *
A bi-athlete travels 20 miles in 2 hours. She

cycles part of the way at 12 mph and runs the
rest at 5 mph. How far did she run?

5 mi

Mauve 4.7 © Copyright. Not to be reproduced without permission. J. B, Wiright - Echuca 2008
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MATH'S MATE [l

12,

[Exploring Number]
Choose the irrational numbers from this list:

4
Term 4 - Sheet 8 MAUVE 2, V100,710 | 2, m, 10
NAMIE: et 13. [Number Patterns] *
. | Mesdnelpy Froo Skl Bulders Express t, in terms of » given the table of values
Parent's Signature: ............. "Weymashssteset for the sequence.
Due Date: ... e J— number)| 1 | 23|45 /|.. N
1. fongxeg* termt, | 4 | 8 |12(16|20 4n
1894 + 8 = 236.75 -
2. (Decimal+ % oran| f, = 4-n
16 - 0.041 = 1 5 . 959 14,  |agebra - Expressions] *
Simplify
3. [Decimal x,+] * 4a% — ab - a® + 4ab 332 + Sab
2.88+09= 3.2
15.  (aigetra- Substitution] *
4  (Fracton+ 1% Use a* = ¢* - b? to find the value of 19
1 3 3 a>0whenc=15and =9
. o
8 8 8 3 4 16.  [Aigebra - Expansion]
. Expand
5. [;ractlon x,+] % ; (m+ 2)(n -7 mn-7m+2n-14
Pl =iy 57 | 17 ation] *
8 . [Algebra - Factorization]
6. [Percents] * 25a% =100 25(a + 2)(a B )
A book was discounted by 20% to $16.20. How
much was the book before the 18, (aigebra - Equations] *
discount? $20.25 Solve for x: x* =64 8-8
L]
7. [Decimals / Fractions / Percents] ¥ 19. [Algebra - Graphs & Functions] * _
Find the balance of an account with $900 Use y —y, = m(x — x,) where m = J; 2 i’ L to find
. 0 . . -
HyEHEdat 8 SE SpIC ntetest $1 008 the equation of the line joining the ;)ointls
forityears, ' | C(1,7) and D(-3,51) ~
L y= 2x+5
. {Integers] ¥ 20 iShapos]
18+ (9)x(=3)= 6 Draw the side view of this solid.
9 [Rates / Ratlos] * ' '
In 2007, on average, USA population grew by
1 person every 11 seconds. Approximately how
many people is that in one hour? y
327
10. [Exponents] ** 5 @ ACCGpt 300 - 360
Simplify 10 5 .4 i 253 ’
2t 21 . [Angles] *
11. [Square Roots] Find the value of x°.
Between which two consecutive whole numbers
does \/;33 lie? 9 and 10 40°
Quote of the week: Whatever you do or dream you can, begin il. Boldness has genius, power and magic in It. Begin It now. Goethe
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22.

23.

24.

25.

26.

27.

[Exploring Geometry] #
Find the value of x in this pair of similar
rectangles. [All measurements are in inches.]

16

10

25 4

[Measuring] *

The world’s largest island in a freshwater lake
is Manitoulin Island in Lake Huron, Canada,
with an area of 2765 km®. Express this in

square meters. 2,765,000,000 M2

[Perimeter] *

What is the perimeter of a square with an area
of 81 mm??

36 mm

[Area] *

Write a formula for the area 4 of the shaded
shape.

A= 2r?
[Surfase Area} *. LT RS
Using & = 3.14 find the surface ‘area of the
snow globe.
78.5 in.?

[Volume] *
Write a formula for the volume ¥ of the half
cylinder.

V= 56mrre

30.

31.

32.

Mauve 4.8 © Copyright. Not to be reproduced without permission. J. B. Wright - Echuca 2008

[Pythagorean Theorem] *

Find the area of this triangle.
[Reduce the radical to simplest form.)

200V2 ft2

[Statistics]
For this box-and-whisker plot showing a set of
student weights, find the lower quartile (LQ)

and upper quartile (UQ).

SERIREE e I I A R

LT | sxangil

BSESAREREANEEERRERE R

40 50 60 70 80 90

Weight (kg)

LQ=58 UQ=72

[Probability] *

There are 12 choc chip, 3 milk choc
macadamia, 13 rainbow and 2 caramel classic
cookies in the cookie jar. If a cookie is chosen
at random, what is the probability it will be a
choc chip or a caramel classic? Z

1

[Problem Solving 1] *

If you double Rob’s age and subtract 1, the
result is a prime number. Rob is less than

20 years old. If the sum of the digits in Rob’s
age is divisible by 5, how old is Rob? 19

[Problem Solving 2] *

In a Math competition with 15 questions,

6 points are awarded for each correct response,
0 points for each incorrect response and 3 points
are awarded for no response. Mark scored 51
points in this competition. What is the greatest

number of incorrect responses he could have
had?
6
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